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Automobile Engg.

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Old Syllabus
OR

Explain the effect of following on the steering

characteristics of a vehicle.

(i) Camber 

(ii) Caster 

(iii) King pin inclination

(ii) 

S.I. C.I. 

(i) Supercharger

(ii) Turbocharger

OR

8.

8
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        

P.T.O

The cooling system of automobile engine is 

most simple when the engine is placed at the:

(a) Front

(b) Centre

(c) Rear on left

(d) Rear on right

Which of the following is not a part of the

chassis?

(a) Wheels

(b) Front axle

(c) Rear axle

(d) Seats

OT5037OT5037

OR

Answer all Five Questions. 

Describe the power transmission from engine to
wheels of a motor vehicle with a neat diagram.

7.

8

8 x 5  = 40
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(iii)

(iii)

(iv)

(ii)

Most commonly used power source in 

automobile is:

(a) I.C. engine

(b) Gas turbine

(c) Boiler

(d) None of these

Clutch facing are usually attached to the 

plate by:

(a)  Steel rivets

(b)  Brass rivets

(c)  Aluminum joint

(d)  Steel screws

OT5037 OT5037

Define compression ratio. What values of compression

ratio are in general use for diesel engines?

over sliding mesh type.

Name various universal joints used in automobile 

and describe any one in brief.

Write the function and requirements of brake.

                                   OR

5.

                                   OR

4

46.
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(v)

(v)

(vi)

(iv)

Which one of the following is mounted 
between the engine and gear box?
(a) Propeller shaft
(b) Differential gear
(c) Clutch
(d) None of these

The coefficient of friction for the clutch 
facing is approximately:
(a) 0.1
(b) 0.4
(c) 0.8
(d) 1.2

4.

OT5037OT5037

OR

Describe the classification of vehicles in brief.

Write the function and requirement of a clutch.

engin in automoblie.

4                     

3.

OR

4                     
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The purpose of transmission in an automobile

is:

(a) To vary the speed 

(b) To vary the torque

(c) To vary the power

(d) To take left or right turn

The central gear of an epicyclic gear set is

called:

(a) Ring gear

(b) Planet gear

(c) Internal gear

(d) Sun gear

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

Explain the four wheel drive. How does it differ

from two wheel drive vehicless?

(xx)
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4                     
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The component of torque convertor that 
allows multiplication of torque is the:
(a) Turbine
(b) Impeller
(c) Stator
(d) Pump

In a torque convertor maximum torque
multiplication occures at:
(a) Minimum speed
(b) Low speed
(c) Medium speed
(d) High speed

The function of master cylinder is:
(a) To increase pressure equally in all 
      cylinders
(b) To increase pressure unequally in all 
      cylinders
(c)  To decrease pressure unequally in all 
       cylinders
(d) To decrease power equally in all 
      cylinder

The hand brake usually operates on:
(a) Front wheels 
(b) Rear wheels
(c) All wheels
(d) Left wheels

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)
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Most popular manual stearing gear for cars

today is :

(a) Rack and pinior type

(b) Worm and wheel type

(c) Cam and roller type

(d) Worm and nut type

Brake fade is due to..............

(a) Loss to pedal

(b) Loss of friction

(c) Loss of hydraulic fluid

(d) None of these

The function of universal joint is to allow 
the propeller shaft to:
(a) Change length
(b) Bend sideways
(c)Transfer torque at an angle 
(d) Change inclination

The smallest gears inside the differential 
casing are:
(a) Pinion gears
(b) Sun gears
(c) Side gears
(d) Ring gears

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Central portion of a propeller shaft is made 

from a :

(a) Steel shaft

(b) Gun metal shaft 

(c) Steel tube

(d) Cast iron rod

The crown wheel and the pinion is called the:

(a) Differential

(b) Rear axle

(c) Propeller shaft

(d) Final drive

The purpose of type rotation in automobile

is to:

(a) Avoid ply separation

(b) Equalize wear

(c) Get better ride

(d) None of these

The angle formed by the wheel with the

vertical is called:

(a) Camber

(b) Caster

(c) Toe-in

(d) Toe-out

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)
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Give a detail explanation of working of simple

carburator.

show its various constructional features.

With the help of neat sketch, describe the 

construction of synchromesh gear box.

9.

8

OR

10.

8
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Give a detail explanation of working of simple

carburetor.

show its various constructional features.

With the help of neat sketch, describe the 

construction of synchromesh gear box.

9.

8

OR

10.

8
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Discuss the construction and working of  telescopic

shock-absorber.

car and explain its working.

cylinder engine with a neat diagram.

8

11.

OR

OR

Discuss the construction and working of  telescopic

shock-absorber.

car and explain its working.

cylinder engine with a neat diagram.

8

11.

OR

OR

***
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